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, he doesn't need to stay in the queue. Instead, he could use the E.

thing he has to do is to queue up for passport control. Passengers are grouped into two categories as EU
and non EU here. It is necessary for a passenger to find the right queue and stay there until his turn is up.

Being the third of the busiest airports in England when passenger traffic is considered, Manchester airport
If his is a biometric passport

is located 13.9km away from the city center. It has three terminals. It also has two runways and it
connects 225 destinations to the city of Manchester. When a passenger arrives at this airport the first

Location

GEURO
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